A% AR F 1] FERS2FDEL TR

N L3
ax RE % ¥z g i B ¥ W3 4
pl-|=|=2lz|I]|=
93§ 4F 8 % ¥ Bl REl&* % 12RBBA~T -~ %
wyg | 20 PR RE TR
¥ 506 (7(8]9[10]1 ,?u#”'#;m&
18 4 2/27 13 2R ki 13Q2)RF L4 (» BEFD) R £ 15 (B)FzHERTFHR |IBWEEI1F LR L
13 % ¢ & s i |13-17 =~ § &l ¥ 1547 kigr  |(PE-FRIANKE IBE AR 5.7 <
ERER < 3.8 13-17 & sifeE Hofe 2 1345 £ 15(7) A= HERT2HEEA (TR 2 3¢ MERLEN
1444 4 %82 13C° =)1 284 & & B—FERREKE PIRE I E 8 (E K)
15-18 €413 p B3F Bt g ~KyIHE? -+ R 15(6-NF - %= 2 BEL &
_|12|13|14|15|16|17 |18 B@B=FF LA BREFREEHD - FApFE #
B 16 MY HRAMELS* | SR R4 P& 16(= k) # =i §
53 13 /® EAR 4 176-DR=- R=2EEL &
16 3 ¥ 2Rz % F @8 |13-24 ST PR TR
* 14(= 5T § 518 4 § GREKE)
18 M® FAE
2018 g4 (20 3 = A FLRISREY ED [20-24 2 riHRAEH L EH A R &% 1 2205-DHE KT 20.21 ®¥ B3#
8:20-10:00  [21-22 W= § ¥ H4 E3 |22 R RARE - X 2/21 B2 ¢ WP |22-24 Rz HERTVEY (20 ¥ 55 HF RAARHF 4
238 frae 111-1 2 §7  |(%3) 2 EF2 RS (2OFZAFEEEAIL T RV HTIERRER
e IGIRE RS & - NG NP £ 3 €8 N ¥ B R 4
WBER Y FF 437 ELRL 2/23-3/10 310 E 8} 2 2RMTERERL
24 S F UFrE a A MAAF4 ga0¢ ((3/10p 24F2E) rRPAFEIE LK (226 TDRF K 2 (3
= = 119|20|21|22|23|24]| 25 20%—s$:$,\§f.#$ﬁ—ﬁ}_& TAABEEBEY ~ RETER|- ERP )
E R 25-26 ¢ | I EFd & FAVF ThRiTLR € (B 28ba%x3d)
246.DRA- W= BRAR%
AGREKE)
UMEELLE LEL
207 w2 B
I3ERBFENEN]R IGOFRUFRF =X RPl% 1G-DHEXRT 1Dl #> TRFTEZL
(z23/3 ¢ =12:00 ) |(3EH) 2/1 % HOE ES 359+ 5 1@ ¥ 4
15 F=FRHBRP |1CGE)EL I B LFR 2/26 THREZH |4 L) (B- Bz niEdd )
1O)F-F- 8y g L(RDEFEHKTE SRY E2 R
RELEGERY ) 1 pie 6 B 4
B N 3EEIARLT H G AR LES L
T L lalsla 202) % ¢ &
2(= sk & § YOREEKE)
2QDKREE 3k
3B EARR
3FY AW
SRELREE
6 fTrc 3 6R=FEEHB T-9° [ EMETR o T F RF%Z 8-DHERT 6.7TH" E#
8:00-10:00 8B =FEI MR 8(2)IF B W Rt #o 30 FRH A I(EDPERTHERHE |0 28HMTITREERL
10 2 F 3 M4 BrpHE LY L TP LHLBSROK 10 2R3 B @ FH
TRZAFZPAY 2 55, 6)% ¢ LBl 1 s Fod k(P = 12:00 )
g[pe s 8wyl ’ = 0R* #= B
z |=|5|6|7|8]9][10]1L -1 A k7 gtz [BDA- &z FAREKE)
10 ERBPEERIF BDB--22¥BprE0ERY )
98 ¢ LMY WL
10 ®¥ AW 2
10(= hR)sIm 518 % § GREKE)
134 % g4 14 3 7 ALBHEALY 38 0k R %&£ i 15(G-DHERT 13.14 ®*® R
8:20-10:00 15(5,6)% ¥ AL 2 IMDA- 2 BEL bRTH |1I3RALFHREF2 TH
1I5(MNF - = Bu|TEz F(EHA LRy o ARFPFFLELERR
7 |z [12/13 14 |15 |16 |17 18 ) 15 2% 2 L FRAK
1I5(NA= ez FGREKE) # (¢ = 12:00 &)
IVES:EE 5 LXF 5§ 1TRY #+ B#
17(6, DA <3
25 #t 4/3 21 B2 %f 20 FI- % - AR & TUEERT X FRIEIMIEE 20 p A FERL
23 REEFARGHL BMOR=+FHATF A Rt 20.21 W7 B f7i
2 |z (19020 |21 [22 (23 24 |25 |20 2 F 4% (22(5,6)% = MARI® 22(5-DHHE KT 24R° ®2 RH
8:20-10:00  [22(6.T)B - 3= ~ £ » U Rz 33z F6)-REK
FRFain 4
2118 §4F [8202RF-xKT |2IEMELESR AL R 20 EHR (B) 271.28 W* R Hgi
8:20-10:00 (30 ¥ 32 = HF - FFE |29 ¢ g A o 3/1 FF 3030 Bk G FMR I £ 160 (3] RFEBEL F 2 TH
= 1262728293031 ERs2d A FEWEL T 2AATAE (3/26 e HRLTH  (00&L ARPHFEFELZABER
= 1 3/28+ Lz R M 31(TF= #7iFiE 3IRY ¥ B3
= Bt LeppE® B1G-DR-ARZ Y £ (i
vk %)
b FMaAR (6B AFR%KEYE (B(QDFFEF KB %% hEEHR (RR) T FRERE L
8H-%FEL(HDL)  BOKRALEf# 47 PRy THRY &= E#
A~ e |2|3(4|5]|6|7]|8 28-TH= ¥ - AR 6(= FOFEAREF HORRKE) (LW {HLPBSROR
F5 B(R)H MW F 4 ¥ s
TR AM83
102F§F [13-19¢ 3> FRpt @ |10A7 KEEHRL RE& S 12G-DHEHKT 10.11 8¢ B3
8:20-10:00 29 ERY (= R)FIm gt § (REKE) 12 24 B35 @B 4 12 {#AF ¢ 51d
14%5@? ¢4 adw (126,603 ¢ M3 1205)A g 2(B)p R =3 [12p +> L BER
A EFzRIME (120D3 FY Rl § R § GE ESEEACE. &3 DICR ANV LAY & |
€3 HET AR D B v o) & 3h)
13-19 3 W ¢ mxim § TR (R
i e 910 11 12 |13 |14 |15 £)
1205 OB - 29 78 §ROES Y
")
13-14 8 - 295
14 AY @4




#x [ |P|- ==z
T2E4#F (1987 WaF> v FORp [13-193 MY 5 § EF (RBK |ROI&E 19G-D# & 1718 ®° B3
8:20-10:00 B £ 19(D# = p &bz F(EF19EEFERER

19(DE - Feia 19(5,6)% # A:M 4 ¥3) 21 W #2 B
<+ |w [16|17|18]19 |20 |21 | 22 0RY F ARV AR |19 A wiFEL iz @ 22 BB KT P (8:10~12:40;
#£ 21 22 I EERES - REEERP - B BB
20-21 A= #-% 4 21 ®° AW 5 KT 2 ¥ RBKTHR)
24iF g4  |26-2TH=2 %4 25(= R B+ 73 § 3% LU EESE 260-DHERT 24.25R¢ B3
8:20-10:00 (|26 % - F A E VA (B ¥ ) 4/26 TH R L %t 24 % 55 ¥ RV AR E &
1 _ |® 23124 125126127128 29 28‘5@]"%1%&;%@3’ 26(5,6)% ¥ AL 5 28R B B
W(MRE-B-F£z ¥
28 FP AW 6
1 g g 2-11 R® LEVAEHLS U 4 RS % 3G-DHERT L2RY B#
8:00-10:00 » A=) ERE T YGREKE) 5 PRFFX 36-DF - B = FBELTR|I LAY FRERLE
3(5,6)% = MBR% 2B)KREE £ EHLHIBIROR (T2 SR E2 R
= g 3(5)% - AL § LIk 5(= R)FIBEFIA X ¢ GREKE) |
- |z 1234|586 3B=WEFF TR 5/1 ¥ 5
6B WTFEI L AWEF £ 2547 Kian
6F? T IATE £
ER-RE IB=AFRHHLET |1l RFEFEER R EE ST 0G-DHEXRT B.9W® Rt Yy
8:20-10:00  |9-10 M= % 2 A.3¥4F & 10(5-6)% = % 1 ARzt |I12WY 5~ B3 ik
<z |z |7|8|9|10(11|12]13 1-12 8- ~A= ~ %
-~ B_FoxEY A ¥FY 2 EFRESEIM Fy
2% FEREFEE
51f g [I516F=mEgmns | 116DR° ERBAF(FHY ROKEN 1THEHR (§45%) 15.16 ®¥ B3
8:20-10:00  |» £ B Fk & ) IT2RPELRERY
16-1T 3 = S H# % 1IT(NA- # 84 F 19RY ®=> FH
a 17(5)% - B #AF ki 19(DA- # 245w
w |7 |14|15)16) 171181920 - 5015034k g #kiE (5 MY M T ¥
% = 504-507 p
18 A== 2 4%
2021 M¥ k7 6%
2217 §F |[22WRA-TLELA® 2203 -RMzBERF RE%E 24 EH (R EHF) 22.23 W° R 3K
8:20-10:00 (% |» £4 = 2207 E)RFFEFELEEHB 5/26 * MLt (25-26 M= B ¢ MR FLE (26 % 55 H R T
- ) 23-26 M= £ BELF A5 [24(5,6, DB - ERF BRTF RS
47 |7 |21|22(23|24|25|26]27 PREEARE L 92 F ¢ AL 8
WA AT R UBUEEFTR
C A
2918 ¢  [29-30 M= E£HHY BI(= th)sem g s+ ¢ GREKR) [REI%E 1 ANG-DHEXKT 29.30 ®¥ B3
8:20-10:00 1-9 22 » 84 ¢ 3I(DF - gt 6/1 #% 26-DR=- Rz BT ErEk3l 2 APEE RS
31-6/7 % - #¥i¥Y 3 (31(5,6)3 ¥ LM 6 PHER Y B ELL T2 SIRY "2 WTMRBERR
i MM pL1EVHRE |1 FEH FiOgrpmy e g LR g S
+4 | [2829(30(31| 12| 3 1(=f)FEaRET 9 ¥rbF33 2R F2 R
> IOERREE €3
2(1-D2 F L RFFH(Ed P )
A PERY B
-9z » B2REE HU-DEFLAGER? <) R R bt EapFF+4E DLO6R®RH
5 THARY HEE 67 >R PR TG-DHERT IR #2 B3
IFFERY §LAHE |THAFE el LB ROK
706, D% - ez ¥ s
7(5,6,7)% = #zf =2 ¥31 P =
L= 12 [4]5[6[T(8|9(10 g(g]ﬂ;é_);g# % ;#aiwfﬂiﬁi
T(NA- * P FRATHFRAREREZ) §)
B2ELAE XA
PRSI JE R L1l
)
17 4 6/23 4Rz $PImF -2 4% |4 B- - AR FVRABGEEHY RA%EL 14G-D#HERT 12.13 A% B
# ) Rz 2¥s5x3% |IEP § R¥ 14R3 ¢ sied v
127k |[IGRA=HBRF 224 |(ITR=4HLEE3 i Es B (P F i
8:20-10:00  |# > FEFI T FBXAL &) 1582 §RE Apkn
2R 44 ¥ E 2
~ |2 1|1z |13 | 1a| 15| 16] 17 i’?;i%ii#gé 1o B
16 9= 3= » £4p5] > 3
BRF - 2 2AWRR
22 4= & 19 Rz B AREH R % 21 HEHKT L 19.20 M7 B %%
3Mpp iR |3~ %A GERE 2.9 2LER- - £ FREN S
. 21-3 7 LML LB L 19 # i 2 g wEVE
. |7 [18|19]20 |21 22|23 |24 |19 F £ RI6-DFY F R A NWHERTHXEN§ R EXRH
8:20-10:00 iR
21183 - ~ B = 5~ &¥
Wik - &1 %
2618 4% (27293 - B = 26(2) G ikt v R X2 BPAHRLCER W
4 8:20-10:00 2820 - ~ W= $=x (30 hER 26 THREZ R 2L bKTIELREH P
R 25(26|27|28 (29|30 B 30 7+ € % AET1ELE £~ 3 MW
i 28-29 #.35 » FHp TR 1#FF Ll
= : B AHEE
30-3 M= 4> £ HM
£t
3FHEN 4 L@ >ER L KEEAERZHRPBE
2(3(4(5[6(7|8 |g.00-10:00 EY L =
103 f§#F [[1A=Z L@pAF» B%p
9110111112113 14115 18:20-10:00 |14 F= LA FFFH 2




